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(a) The errorin the measUrem. .\ f radius of a SPhere is 0 259,
the error inthe calculation o e volume of the sphere willbe
i) 0.25% (i) 050% iy 0.75% (v} 1009,
(b) The dimensional fﬂ*"’””!? ofimpulse s :
) LT 0 IMLT™Y iy ML2T v MLy 2
(c) Iftwo ﬁciofﬁ E“fj are mmendicEIaL then L
i) A+B=0 ) A~Bso" iy xE=0 (vAB=0 )
(d) FormaximumRange of Particie the angle of projection Ty
be . ‘
(i) 0* withthe hﬁﬂz?ﬁial (il) 60" with the horiz
(iii) 30° withthe horizontal (iv) 45° with th @)ntai
(e) Aforceactingonabodyisequalto: &
(i) Momentum (i) Changein Mn@
(i) Rate of change of Momentum pulse
(f) In1Joule: i *
(i) 10°erg (i) 10"erg LQ\ erg  (iv) 107 erg

¥ mm&mg&@ =i YT Ty (1)
g g & 87 (1)
T e T IR d1E TR E? (1)
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(a) Calculate the upj
(b)  Whatis the definiti
()  Whatisthe relati
(d) Why is it difficut
(€) Find escape ve|

(1) Whatis the me Srth?

aNing of viscyg force?
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a7 aRA=Z+3+kTn B e akB AT ART: ()

. AxB 2 BxAawr 3 R+ B)x(R-B)
u o, S, Y O XS B geerd] ONE B ged w9 i

fafag?
SECTION-C
Q3 (a) The velocity of sound in air is 332 M Sec™". rtitin Km.
h-1.
(b)  Derive the second equation of Motion usi Iculus.
(€) WA=Zi+3j+kandB=3i+ 2T+4k_lh’
\AXB (i) BxA (i) (A -B)
(d) Write copper, steel, glass and@er in decreasing order of
their modulus of elasticity.
54 @ g AR ndg @ e 872 (3)
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ML E T NN,
q HﬂW'#?WW.WTH q'ﬂ'ﬁ'qw a}; (3)
3R e ST ) o) fyfag | 3 fofay
S e et a1 Brfrg cgmor 3 L 3
SECTION.p Wﬁ"!ﬁm, g )
4. (a) Prove that pﬂthﬂ'projgcmais 3)

(%) Onasmooth table arg e Parabojigs
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as shown. State by ock process the
10kg.block? | M@tforce this block p

——
5.0N |20 kg||10 kg

(i) If the above force is appl; r-;;‘rna‘rrn;ai ur'.;f.r
10 kg. block then STION Y L W Suot e

by What force the 20 kq. block
will press the 10 kg. m; .

(c) Whatisfriction fﬂrce?t Write the Methods of reducing friction?
(d)  Write the formula of flight time, Range and maximum height of
projectile, also write the

) of parameters.
(e) Establish the relation between the T o
orq an
acceleration. d angular

U5 & gaﬁﬁmmwhﬂmmm .
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T UTEEH AT R T w2 Q) a)
U A9 ¥ 500 Hrew 35 A e S & | afy d
¥ 100 M /qFve @ AN HH AN @ M T
QEGUT BT e ?(g= 10 /¥Fv=? (3)

€ dn=[zE/x x {3 ST Fifore? (3)

Q.5 (@) Findoutthe gm%unaf potential on the surface of earth, (g =
10m/s?, Radjds,ef earth = 6400 km)

(b) Acaris with velocity of 20 nvs and having Mass =
2000 k oke is applied to stop this car and applied the
re orce 2000 N then Calcylate the tme taken to stop
the Gar.

(c) Define poissions ratio?

@ Acannon is to fire up to 500m. horizonta!y What Eh;jm-ﬂ be
the angle of projection if the shells are 19 BRSO

WE-B‘G,,? = 2
(€) Velocity = [t m/sec.?)

fu)

_ _ansions of x
Pressure/x, then write the time”
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(5)
Astudent determines the va|q S from the formula S=ab2/c3 by
measuring the physical Quanjygg , oo " the errors in the
measurement of a, b and C g 1%, 2% and 3% respectively then
whatwill be the maximum posgipyq -

rorinthe value of 37
ST oR
Refim fere 81 198 W Givers o e 7 < 2n[ug @
Heurgs P |

Verify with the help of dimension g 04 sis that the equation @n:;
period (T) of a simple pendulym T = znj llg O

100 e A Th MR & IR @ graier o
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Aball which is thrown verticall

100 m. high At the mnme ball is thrown vertically upward,
another ballis dropp r-l vertically downwards from the roof
of the tower. Calcul nand where these balls will meet each
other? (g=9. E!
JYdT OR

TR © Ei‘ fore 3= wenrfug #Hfm?

Denve%rmula of fnction in inclined plane?
WﬁﬂmWI%"[hEﬂﬁiﬂ—— Xa v delr
FHST. Ty AT T AU I gy @) TTﬂ'ﬂ £ | (5)

What is centripetal force. prove that o= .T where a v andr are the
acceleration, velocity and radius of the circular path
Fuar OR

af =T @ fary # TR 0k 2.0 x 10" e /A2 &
G L2 I I ﬂfn"ﬁ g B g @ a9 B yR
;iﬁrﬂﬁ?ﬁﬂﬂﬁ?lﬂémﬁﬁ 4% W7 (g=9.8 1/ Havg?)

I voung Modulus of steel is 2 0 x 10" N/M? then how much wejgpy
vou
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be suspended from a sleel

wire of length 2.0
mm. so thatthe length of the wire bﬂlﬁtreasgd: -:'r;]d diameter 1 0
(g=9.8 m/sec?) y 1.Umm?
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Find the apparent weight of a Body in allift.
CHEEH OR

nfe WiEe A= 3+ xj + 5k YT #fde B = 2i+j— ?WW&H%

al x @7 /1= ST HIfeTe?
If VeclnrA 3i+ xj + 5k and Vector B 2| JQF

to each other, then find the value of x. ©
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